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He buys and brings Bikkurim - ©IT52 K92 AP

Overview

The mawn states, if someone sells his field to a 721, he must buy the 21272 (first
ripened fruits) from the *721 and bring them to 2°217° as 2°113°2. Our MdoIN offers a
different reading of the text.

= 19959 NP MNY 1Y 1990IP1 VIVIPN NI In
This is the text according to >'"'w=, that we penalize the seller to go back and buy

the 0°112°2 from the 151, and bring it to 2°>w1 -
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However, we do not penalize him that much that he should buy from the "2
sufficient produce in order to separate »''In from the crops —

moon disagrees with *"'wAa:
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However the n''1 has a difficulty with this >"w79, for the X923 brings proof from

our 71wn that a »321 has an acquisition in X > yIX to remove the n™in 21 from the field

which he bought in *"X; the proof is that we require the seller to buy 271322 from the *733, (only) -
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Because of 2777 337°n, but n''7% there is no arn to buy the oM2°a from the 133, since
once the "1 bought the field he removed the 21 from it, for 2"5v% 1P w°. This concludes the

X973, npoIn asks -
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How does the X713 know from our 71wn that 2™>y% 1ip @, perhaps 2"2v% 1°1p PR
and there is a n'"7n 0°M3°2 21’1, and the 2997 PPN is referring to this fact that they
obligated the seller to buy?!

mooin offers his interpretation and rendition of the text:
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And the n''1 says that in most texts it does not read X°22) with a Y'">, but rather it

L1972 R0 mpo.
2 mpoIn may be alluding to a slight difficulty in >"w5, why did they obligate him to purchase 2>113°2 but not »"1n. See
‘Thinking it over’ # 3.
3am.
4 Even if we maintain 2"2¥% 737 PX so there is a 270 of 2>M>°2 and »"1n on the produce, but that 21’1 will be on
whichever 8> will buy the produce, not on the seller. The 02w 11p°n is that we force the seller to buy the 211272,
but there is no 07w p°n for bringing 0°713°3; that is a RN™MNRTM 217 since ™DV 1Ip PR.
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reads 2°112°2 X220 P17 -
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And this is the meaning of the 71wn, any person who buys from the *721, brings

271292, no difference whether it is the seller or someone else -
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And the 1"'1 is ©73 that Xv2» iy, ete. (without a 1") and so too is the X073 in
AR TINON

Summary
According to *"w1 the seller must buy the 2°712°2, while Nd0In maintains that

whoever buys produce from the >723, he must bring o°1>°2.

Thinking it over
1. mooIn learns that whoever buys the produce, he needs to bring the o°713°2.7
According to Moo1n, what is the 22971 1%°n; how does this accomplish anything?!®

2. According to n»oIN, why does the miwn states 0°12°2 X1 112 2™OYL "1 AT,
it should have simply stated 2°112°2 821 ™27 12 nP17n?!?

3. Does mooin distinction!® between 2°113°2 and »"7n apply only to >"wId, or also to
"0 "e?

5> The proof of the X3 that 1217 PIp w», is now understood, for if a7 1% why is the byer obligated to bring o>113°2
only 29w 117°n °19n, he should be obligated n"n if 1°1p 1X. See ‘Thinking it over’ # 1 & 2.
% In our v"77 poO.
7 See (text by) footnote # 5.
8 See 0"vn.
% See X"wn.
19 See footnote # 2.
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